Solving Equations

isolate the variable equation inverse operations

L. are mathematical operations that undo each other.

2. To solve an equation, you need to

3. A(n) is a mathematical statement that two expressions are
equivalent.

Inverse operations

How do you “undo” addition?

How do you “undo” subtraction?

How do you “undo” multiplication?

How do you “undo” division?
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'Notes - One-Step Equations Name: E#
Fractions & Decimals

To solve a one-step equation with fractions/decimals:
1) Do the operation.

]

I

]

| 2) To get "rid" of a fraction, multiply by the
L=

**YOU MUST SHOW ALL OF YOUR WORK AND CHECK EVERY ANSWER**
1) a_l:_g Check: 2) b—ll§=4l Check:
2 3 5 2
Solution: Solution:
Check: Check:
3 c¢+4lo52 8  24-10
2 3 3
Solution: Solution:
1 Check: —6 Check:
5) 3—=5be 6) —f=12
3 )
Solution: Solution:




7) g+38=43

Check: 8) h-24=02 Check:
Solution: Solution:
i Check: 10) 0.3j:=-16.8 Check:
9) - -45 ) 03
3.2
Solution: Solution:
11) 12k=36 Check: 12) -5m=19.35 Check:
Solution: Solution:
Check: | 2 Check:
13) in:_g ec 14) _Ep:_lg ec
9
A
Solution: Solution:

AQ



Homework - One-Step Equations

Name: E#

' **YOU MUST SHOW ALL OF YOUR WORK AND CHECK EVERY ANSWER**
1) 36 - (-n) =21 Check: 2) 78 +r=-15 Check:

Solution: Solution:
3) 8j =96 Check: 4) Y _ g Check:

19

Solution: Solution:
5) f+(-43)=-29 Check: 6) -13z=-78 Check:

Solution: Solution:
" = Check: H Check:

7) 180 = 15m ec 8) _d _ g
12
“s-Solution: Solution:




9) 12 o 75 Check: 10) 243 :=27r Check:
a

Solution: Solution:
11) -9n=-117 Check: 12) 68+k=141 Check:
Solution: Solution:

— Check: - =i-  Check:
13) 9= -9 ec 14) 107 =j-49 ec

27
Solution: Solution:

Check: - = - Check:
15) —84:@ ec 16) s-92=-307
d

Solution: Solution:

Nt

44



Kuta Software - Infinite Pre-Algebra
One-Step Equations With Fractions

Solve each equation.

1
)S—+p=6
) y BB

3
3) ~=h=2
4

) 2—Ln= 1l
10 6

9) 52 k=227
7 70

Name

Date

1
2 —l—=——
) m 5

4) x—3=—5l
2

) grsl o=
4

8) 9l=£n
3 3

10) 2= =31 4%
12 4

Period_
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Kuta Software - Infinite Algebra 1
Two-Step Equations

Solve each equation.

) 6=2 42
4

3) Ox-T7T=-7

5) 4=— -5
20

7 v+9:8
3

9) ~9x +1=-80

Vv
1) -2=2+—
4

Name

Date

4 0=4+2
5

6) “1=5+x

8) 2(n+5)=-2

10) —6=— - 10
2

12) 144=-12(x+5)

Period_



13) =15 =-4m+5 14) 10 - 6v=-104

15) 8n+7=31 16) -9x-13=-103
n+35 18) —10=-10+7m
17) e =—

19) =10 = 10(k - 9)

I ] )
9
21) 9+9=9 22) 7(9 + k) = 84
b 24) 243 =-9(10 + x)

23) 8 4+—=5
—4



Kuta Software - Infinite Pre-Algebra
Two-Step Equations With Integers

Solve each equation.

) — +4=5
10
3) 3p—2=-29
k10
5 St
2
n
D H+—==7
4
9) —5+x=_1
2
9
Ty EiE g
13) —4+x:6

Name

Date

2y 2 45
2

4) 1-r=-5

9+ m

10) 4n-9=-9

14y =54
3

Period



5 < % §=1
4

17) 6+ =4
2

27) —14r—19 =303

16) 9+ 2 =15
4

20) —12r +4 =100

22) =7 +4r=-15

24) —Sx+13=-17

p+3

26) =10

Ry~ sl
]

GA



Homework - Two-Step Equations

Solve each equation.

r

1) — +4=5
10
3) 3p-2=-29
k- 10
J) ——= =7
) 2
n
N -9+—=-7
4
9) —5_+.x=_1
22
1) J¢:+9::3
13) --4+)c‘__6

Name:

E#

8

) 245
2

4)1-r=-5

10) 4n—9=-9

12)

14) -5+ =0
3



15) £ +8=7
4

17) 6+ =4
2

a— 10

19)

25) k+10 _s

27) —14r-19=303

16) 9+ 2 =15
4

18) b+ 11 —
3

20) —-12r+4 =100

22) -7 +4r=-15

24) =5x+13=-17

26) 2*8 1o



